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QUESTION 1

What must a customer consider adding an uplink set to a logical interconnect group? (Select two.)
A. Additional logical interconnects will need to be created

B. The associated Logical interconnects will be flagged as inconsistent

C. Logical interconnects will need to be updates from the group

D. Logical interconnects will automatically be restarted

E. Logical interconnects will need to be restarted

Correct Answer: AB

QUESTION 2

A customer is using HPE smart Update Manager (SUM) for firmware update. They plan 100 gen ProLiant servers, and
they are concerned about whether HPE SUM will be able to support this size of installation.

A. ILO Advanced premium security edition
B. Insight control server provisioning

C. Insight Cluster Management Utility

D. ILO Amplifier pack

Correct Answer: B

QUESTION 3

You have Customer who has thousands of proLiant servers spanning Gen9, Gen9, and Genl10 Across multiple server
models (Rack, Tower, Blade, Apoll ). All licensed with iLo Advanced.

The customer needs an effective way to inventory and update the firmware across the environment.
A. iLO Amplifier pack

B. OneView

C. Intelligent provisioning

D. SUM(System update Manager)

Correct Answer: B
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QUESTION 4

Refer to exhibit.
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You are installing three Synergy frames for a customer PoC in the configuration shown. The composer ids unable to

discover the frames What is the mostly likely cause of the problem?

A. Another composer is needed frame3.

B. Composer 2 is in the wrong frame.

C. The management network should be connected to the top and bottom frames.
D. The management ring should be connected using the FLM link ports.

Correct Answer: C

QUESTION 5

What are features of the HPE Synergy planning Tool? (Select two)

A. it creates a REST configuration file based on configuration created.

B. it recommends estimated power consumption and weight of the solution.
C. it runs on the partner Ready portal.

D. it aids configuration of rack, Frames, compute, storage, fabric and power.

Correct Answer: CD
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